CBSE Class 9 Maths

SAMPLE
QUESTION PAPER - 10

Self Assessment

Time : 3 Hours Maximum Marks : 90

o SECTION -
Question numbers 1 to 4 carry one mark each, For each question four alternative choices have

been provided of which only one is correct. You have to select the correct choice.
1. The number (V2 +/5)is:

(A) not a real number (B) rational number (C) an integer (DY irrational number
2. One of the factor of (9x* - 1) - (1 + 33)%is:

(A) 3+x) (B) (3-x) (©) (3x-1) (D) (3x+1)
3. The value of p, if x = 2 is a zero of the polynomial 2¢* + 3x - p is :

(A) -4 (B) 8 € 14 (Do
4. The coefficient of x* in (22" = 5) (4 + 3x*) is :

(A) 2 (B) 3 8 (D) -7

o secrone | Y

Question numbers 5 to 10 carry two marks each.

5. Insert three rational numbers between % and ;

b. Findlheremainderwhenr‘+ﬁ+x+1isdiﬁdedbyx—%,uslngremahﬂﬂ&lmem.

SOROROPETS

8. In the given figure AC = D{;‘: CB = CE, show that AB = E'!EE.

D B
Write Euclid axiom to support this.
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9. In the given figure, if I, | 1, and [, || I, what is y in terms of x ?
L I
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N
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In AABC, £A + £B = 65° and £B + £C = 140°, find the value of £B and £C.
10. The longest side of a right triangle is 90 cm and one of the remaining two sides is 54 cm. Find its

area.

m secrion ¢ .

Question numbers 11 to 20 carry three marks each.
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11. find the value of (x-%] Jifx=1++2.

OR
! g o '-(sz}
alepl lopt 2R
12. 1f 541 = (25)"" = 2500, then find the value of x,
13.Findﬂ1evaluenfp’—q’.iip—q=%andpq=

Prove that :

3
T
OR
1 3 3
Factorise : = K-8y + = Y- 5 W

14. Factorise : x* + 2y — 2my"— /",
15. In the figure, if p || g and £1 = 2x + 90°, £6 = 70" — x, then find the measure of Z4 and £8,
r

4 2 &
= S >p
i 246 .
% - >q
OR
In the given figure, AP and DP are bisectors of £A and £D. Prove that 2ZAPD = ZB + £C.
A B
P
D C
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16. In figure, £B = ZE, BD = CE and £1 = £2. Show that AABC = AAED.
A

B D C E

17. In the given figure, AC > AB and AD is the bisector of ZA. Show that ZADC > ZADB.
A

Ay

B D C
18. ABC is a right triangle and right angled at B such that ZBCA = 2£BAC. Show that hypotenuse AC =
25{-“

19. In the figure, PO L AB. lfx:y:2=1:3:5, then find x, y and z.
&P

B
20. Sides of a triangle are in the ratio of 12: 17 : 25 and its perimeter is 540 cm.
(i) Find its area.
(i) Which mathematical concept is used in this problem ?
(iii) What is its value ?

m secnoN D' .

Question numbers 21 to 31 carry four marks each.
21. Simplify the following by rationalising the denominators
26 62 8
V2+d3 Y6443 VB4

OR

i (5+B) 7(V5-25)
V53 V54243

23456

22. You know that % = 0,142857. Can you predict the decimal expansions of 77777 without

-u-J‘E b, find the values of a and b.

actually doing the long division ? If so, how ?

23. Let p and ¢ be the remainders, when the polynomials x* + 2x" - 5ax - 7 and 1 + ax’ - 12x + 6 are
divided by (x + 1) and (x - 2) respectively. If 2p + g = 6, find the value of a.

LLearnCBSE.in



- i el R e i e hamy S 8 iy R AR i R ey S el -

24. Prove that :

(x+ P +ly+2P+ 2+ =30+ y+2)z+0)=2(P+y +2-3x2)
25. Factorise:4x” + 12¢% - x-3.
26. Plot the points A(1,— 1) and B(4, 5).

(i) Draw aline segment joining these points. Write the co-ordinates of a point on this line segment

between the points A and 8,

(i) Extend this line segment and write the co-ordinates of a point on this line which lies outside the

line segment AB.
27. In the below figure, AB || CD and EF || DQ. Determine £PDQ), ZAED and £DEF.

A E B

29. In the given figure, BL L AC, MC L LN, AL = CN and BL = CM. Prove that AABC = ANML.
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30. AB and CD are respectively the smallest and longest sides of a quadrilateral ABCD. Show that

LA >Cand ZB> £D.

D

C

31. There is a slide in a park. One of its side wall has been painted in blue colour with a message "KEEP
THE PARK GREEN AND CLEAN", (see figure). If the sides of the walls are 15 m, 11m and 6 m, find

the area painted in colour.
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